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Dedicated By:

7"01
Intro

Today we will 7"pa learn 3"y 97 of Xp X212 nHOH
Some of the topics we will learn about include.

A continuation of the X271 »ar n>nn regarding ot Ty,
from what point does he become mT5 %109, disqualified
to testify?

»aR holds

5001 N7 Y7915

He becomes 9109 retroactively from the time he testified
falsely. And

N17 holds

5091 K177 RO RN

He becomes %1090 only from the time it was discovered
that he was an o1 7Y.

And the explanation of the Mishnah according to both »ax
and X17;

The Machlokes X»p Rin and *ov *17 in the Braisa regard-
ing the case of

ARV IMR PTYH DI

N2VW MR PTYD

If two o7v testified that a person stole an animal, and the
same two 07V testified that he also slaughtered the
animal;

Ifit was

NNR N33

The two M7y were given simultaneously, and

AmPavn Y NN

If they became Pt only for the 2w m7v but not for the
1721 M7V, the Xnp X1 holds the P»nit 0*7v do pay for the
720, while "oy °17 holds the P 07 do not pay for the
amav.

And the two explanations of this Machlokes;
1.

The xnp R0 holds

5091 RIT R R

While *o1 27 holds

5093 Rif vI9NH

OR

2.

The x»p Rin holds

N7 N

MTNVTIIRS

The 12233 m7Y and the nrav M7 are considered two MY,
even though the mav m7Y was made 12772 Jin of the
23 MY,

While >0y 27 holds

N7 N

M™T NI

The 12233 MY and the 2w M7 are considered one M7y,
because though the 720 m7Y was made 12775 70 of
the n223 MY,

DafHachaim.org

R2M MR NN
oIt TY
/rom what point does he become v/ foo,

disqualified to testily?

701 727 - PP RIN NMONN
220w MR PTYN DAY
N2VW MR PTYN M

AP A

90D1 RIN X210 RN

9001 RI1N YIODNH

P L
M7 27D PN
MT MN2>TI IR

0p D)

7227 77 N
MT N7
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The Gemara’s conclusion that *o» 27 holds

NVTTON

M™T NI

Only if it was

71505 297 NYRW 7D

The time it takes for a Rebbe to greet his student, which
consists of two words

T o

But he holds

NVTTON

MWT NDTI IR

Ifit was

275 TSN NYRY 79

The time it takes for a student to greet his Rebbe, which
consists of four words

M1°27 PHY DHW

DafHachaim.org

72°7 *72 PN
MT N7
X 4

Ll fo th fo)
TN5N NY'RY 290 NYNRWY
299 TP5n5
o 3 27 ol Ay ol
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. So let's review ...

The Gemara in the previous Daf mentioned a Machlokes ] DDT( ™

regarding If a witness was later discovered to be an T

onn 7Y DT, from what point does he become DD

If a witness was later discovered to be an omy 7Y, from MDD,

:;lslg; }[I)?oint does he become m7v5 509, disqualified to disqualified to testify?

IR PIR WE £P) W "RE

5001 N7 Y7915

7N says he becomes 5109 retroactively from the time he R:!ﬂ'ﬂ ]RDD }’ﬂDDI’

testified falsely, because IJDDJ RIN 'DDD] NXIN

;;Zﬁbﬁiw NI He becomes o109 only He becomes 5po retroac-

He was then already a yw1 who is m7y5 %109, as the Pasuk from the time he became tively from the time he

states anppir 1v, but not from testified falsely, because

75 Vw1 Nwn 5N before, THDRT RNYY NINND
NN W1T'N DPIT TD PRI M NN

IPRRIT It is a novel Halachah .

5053 K17 R JRID thot the second o Hewas th.en already a ywH

X127 says he becomes 5,109 only from the time he became o0 di ify i} ) who is mTv> 5o,

an Dt 7y, but not from before, because pomon disqualify the first as the Pasuk states

NI W1 DR TY oIt DTV by testifying ..w {yipm mipm BN

Itis anovel Halachah that the second 1’10 o7 can DN 1IDD,

disqualify the first P 07 through the testimony of

oY, because this is a >3m0 a situation in which the

. second i 07TV are WNon, contradict, the first o7 as to Nb Py Nd IMNT D IND
their whereabouts at the time of their testimony; and if so Why do we accept the second MTDV over the first mTY?

17D TR 032 INRT VI ORD

Why do we accept the second m7y as truth, and the first
mTv as false? Perhaps, the first m7y is the truth, and the
second M7y is false?

It must be a 3057 N1 that we accept the testimony of the
second m7v. Therefore,

TORIWITA NYWR ROR 12 P PR

The first 07 are 5100 only from the time of the mmi7, but
not from before.

'R WITH DYWD RDR 12 )0 PN
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The Gemara now proceeds to explain the previous
Mishnal’s first case:

3w *0 HY

1770 5V 7911 nav

DI INION

5on pbwn

If two witnesses testified that a person stole an animal and
the same two 07 testified that he also slaughtered or sold
the animal, and these o7y were then discovered to be o7
P, they testified falsely;

These 07y must pay the complete m 7’ to the accused,
which is what they would have caused him to pay through
their testimony of 72°33 and 77321 av.

According to »ar, who holds,

5001 R Y917

The Mishnah cannot be referring to a case of

0 O ITYIY

AR SV ITYM IR

The two testimonies were given at separate times, first the
121 MY, and afterward the 72w mTY, because they
would only be

500 mwn Prown

» 50N R

The 07y would only be liable to pay for the 72°33 but not
for the v, because,

AR I MWIPRT 1D

»I91Y RNPD ROPR

N7 PIOD FIMPILR 1TIOR 7T

When they later became p»»i on the 72°33 M7y, they
became 5109 retroactively from the time of their n23 m7y,
and were certainly 9109 later at time of their 72w M.
Therefore, their 72w m7Y was not valid at the time of
their testimony, and i is effective only if their testimo-
ny was otherwise valid and effective at that time.

However, according to X129, who holds

5091 K17 R R

The Mishnah can be referring even to

NN OV ITYIY

AL Y ITYM IR

And they are

5an prbwn

The o7y are liable to pay for both the 72733 AND the nmav,
because, even though they later became i1 on the 721,
they were not 5100 retroactively from the time of their ny7
121 and the later mav M7y, and their 2o m7y WAS
valid at the time of their testimony.

Therefore, according to 72, the Mishnah must be referring to
NNR D227V

The two m7y were given simultaneously; and

APIOR PROWH

Because, as Rashi explains

N NPT T PORAT

The nav MY was during the time that they were still
able to retract the 121 m7v. Therefore, they were not yet
considered 5709 during the mrav m7p, but rather a
moment after, even according to

5091 NI VI9ND7

>N

1D Op 9om mam 2w 0 5y A
VAR AN
bom prbwn

These D1 were then discovered to be ppit DT,
they must pay the complete m T to the accused,
which is what they would have caused him to pay.

AP
08y k1 £l oy

N2 by mvnw
AN by PYM NM
And they are

"y
/ooy ,e/§ vl
The Mishnah cannot be
referring to a case of
N30 by mvnw
nmavn .’)D 1TV NN

because they would only be

DafHachaim.org

550 prdwp
The D1 are liable for both
the n2a and hmap,

595 mibwn podwp
2 mbwn RO
The o1y would only be liable
to pay for the n213, because,

NN ND WIMNT m
1I9P5 RNDD WHIR
m Pb)DD NMIDN ITNADN DT
When they later became poni,
they became hpo retroactively
and were bpo later at time of
their nnw M.

their nmap mTv was valid
at the time of their
testimony.

DNR N22 17YNY

The two mTY were given simultaneously; and
NMIDN PPOYD

Because, as Rashi explains
NO MN397 970 T HO7
The swad prsy way /Mm?/ the time
that they were sl able to retract the >y v3y.

err?@w, they were nat yet considered foo
/MM?/ the swad_ sy, but rather a moment aﬁer,
% MCOM/M?/ ty - Jo ) PZ0) )/7&,1//
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The Gemara now wants to say that the X170 »ar npbnn is
actually a ’Rin N5 in a Braisa that discusses the
Mishnah'’s case:

ARV IR PTYD DIV

MAVW MR PTYD |

The Braisa states

12210 5 NN

1519 171502 ANPR "YYW MTY

If they became i1 only for the 72233 M7V but not for the
A2 My, they only pay 593, but they do not pay » m>wn’
for the 71m°2v, and therefore if they later did become P
for the 7mav, they are 11090 because the av M7y was
disqualified through the 1 of 72733,

123 PR DRY

7791 PRI M0 PR

As the accused might have bought the animal and
slaughtered it legally.

However, there is a Machlokes in the following case:
araon Sy wnn

595 "mSWN 0OYWN NI

AwSw SN PrSwn 1M

If they became i1 only for the nmPav miTy but not for the
7233 MY, the Xpp Rin says the accused pays 503 to the
owner for the 72°3), because that m7Y remains valid, and
the o1 07 pay the additional » mbwn’ for their mTy
72, for which they were ot o7p.

DY 117 says it depends, as the Gemara explains;

nYTY NWAR"TA

%IR8

If the two testimonies of 72°33 and nPav were given at
separate times, they are considered as two m7y; and only
then do the pnmit 07 pay for the nmav.

IR MY YR

N5 PnR N23

If the two testimonies were given simultaneously, they
are considered as one m7Y; and the P ©7v do not pay
for the nm»av, because

1512 1502 ANPL TYVIW MY

Both the 123 M7 and 2w mTY were disqualified
through the 717 of 2V, and

12 PR DR

7790 PRI AP0 PR

Dedicated By:
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W act: @ DI - where

PG LV p7 fo el iy pyl

122220 Y MTN

N1 1YV NNXPN NHVIY MTY
Ifthey became pomit only for the N2222 MTD but not for the
nmav mTY, they only pay 59>,
and therefore if they later did become pooir for the nmap,
they are o because the nmav mTv was disqualified
through the npth of N2,

720 PN N2D PN - N2J3 PN DNY
As the accused might have bought the animal
and slaughtered it legally.

NNY20VN YY NPT

If they became pomit only for the nmap mTy
but not for then23a mTY

‘o P9
nPTY YNWa R"T72
AT INR T2
If the two testimonies were

given at separate times, they
are considered as two mTy;

NNXR MTY2 Yar
XY NNKX N22

If the two testimonies were
given simultaneously, they are
considered as one m1p; and
NN¥PN NdLIW MTY
N5 nba
Both the n213 mTv and mTv
nmav were disqualified through
the nprn of nmaw, and
N2 PR DR
DN PRI NMID PN

AP AL
nowN NN
595 "M VN
PPoWN 1M
WYY !MO5VN

The accused pays 59>
to the owner for the na1a,
because that mTv remains
valid,
And the popit DT
pay the additional '3 »mbwn
for their nmav mT, for which
they were pomit DYTD.
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The Gemara initially assumes as follows:

NPT T PN RPIY 7T

MT NI

All agree that if a person made one statement and then
made a second statement within the time that it takes to
say a 1127, the two statements are considered one.

And the Machlokes regarding nnx n11 is as follows

The xnp Rin holds

5001 RIT R IRID

The 07 become %109 only from the time of ruin.
Therefore,

DNIVPR DIN) RPT MPIAOR

DRIPR RS 1100 RYT IR

Only the nmvav M7y was disqualified through the 17, but
the 12233 m7Y remains valid. Therefore, the ypomi o7y do
pay for the arav.

While "oy »27 holds

5001 NI Y1915

The 07 become %109 retroactively from the time of the
nmav MY, and therefore

FPAOR I IR 7D

BN MIND MITR

The 12213 M7 was also disqualified through the nnii of
71’20, because

MT NDTINDT T PN

The n2°3 M7 and nrvav MY are considered one
statement. Therefore, the 15111 ©7» do not pay even for
the nnav, because

123 PR DRW

770N PRIAMI PR

The Gemara however explains that this is not necessarily
so. Perhaps, all agree that

5091 K17 »IONH

And they disagree in whether

NPT PN

MT NI

The xnp xin holds

MNVTTIPN

T NI IRD

The 121 M7 and 72w MTY are considered two M7y,
even though the 72w m7Y was made 127775 710 of the
121 m7Y. Therefore, only the nmrav M7y was disqualified,
but the n2°1 M7V was not disqualified.

While *oy »27 holds

N7 7O PN

m™T NI

The 7223 m7Y and 2w MY are considered one M7y
because the 2w mTY was made 112775 70 of the mTY
721, and therefore

7910 150 ANZPP "YYW MTY

Dedicated By:
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The Gemara Mmﬂyz@dm@/
M2>7 27D N RNYY DT
MT N

If a person made one statement and then made a second
statement within the time that it takes to say a 127,
the two statements are considered one.

The Wachlobes reﬁar/m?/ PR . ..

‘o P9 ANP gp
ooy 19 voom/ Y =
The DyTv become 5pd The DTy become bipo
retroactively from the time of only from the time of nnTh.
the nmap M1, and therefore Therefore,
AMILR D WIMR D DT NPT AMIDN

NJIN M) )ﬂb MWTINMN DngT‘N
The 22 MTY was also WIIVH ROT NN

disqualified through the nntn DITIYR N5
of nma, because Only the nmap mTY was

WT NPT NVT 1T N disqualified through the
TN, but the N MTY
remains valid.
Therefore, the pooir DTV

1223 PR DRY do pay for the nmav.

YD PR AMIAD PR

X

The Gemara explains that this is not necessarily so.

Perhaps, all agree that
90D1 NIN YIDNO
And they disagree in whether

MT MAYTI NXT *TD PN

o 19 AP AL
M2>7 27O PN MN2>T >TO N
MT N MT NTI IRY

ThenamTy and nmaw M1 Thena mTv and nmav MTY
are considered one mTv are considered two mT,
because the nmap mTY even though the nmap mTY
was made N7 N was made N7 172 N
of the n2a M7y, of the n2a M.
Therefore, only the nmav mTY
was disqualified, but the mTp
1212 was not disqualified.

NNNPH NdLIY MITY
N5 nbva
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The Gemara points out an apparent

contradiction in the opinion of "oy 1

We just said that "o» '27 holds

N2TTOPN

MT NI

However, in a Mishnah in 7770 noon he seemingly holds
N7 TN

MTNVTIING

The Gemara answers

N N2T T NN

There are two durations of 7127772 7/, one is longer and
one is shorter:

The Mishnah in 7m0 noon refers to the longer 12’7 of
275 PN NYRY 7D

The time it takes for a student to greet his Rebbe, which
consists of four words;

1727 THY DHw

Where 'ov 17 holds

N7 PN

MWTNVTIIRS

However, our Braisa refers to the shorter 11277 of
7505 2937 nYRW 7D

The time it takes for a Rebbe to greet his student, which
consists of two words;

75 oW

Where *o» 27 holds

NI TN

MT NI

The rest of this Daf'is reviewed with the next Daf.

Dedicated By:
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P4

Mishnah in NN NODY he seemingly holds
N2 2 TN
T N2 NS

D

NN N2AYT 2T N N
There are two durations of M7 Y72 N,
one s longer and one is shorter:

AR DUND _PION
&%@Mz ty the shorter %> of ?%em t the &n?er Y o%
7D 7D
290 NYRY TN NYRY
Tn5n5 279
The time it takes for a Rebbe The time it takes for a
fo greet hiy student, whichs — student ty ?reef/uz/?eéé&,
condisty o% two words; which consisty of%oa/ wordl;
974 ™ 2f il

g\W/m@ o 192 holdy
MT NAYTI NT 7O N
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